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;. () IYAIH IR E 997 [ v S IR I |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i)  FqFH F¥ & GH1 17 Bl FHER UF G 5T B |
Solve all parts of a question consecutively together.
(iii) 5% F¥T F1 79 8 & IRET Ford |
Start each question on fresh page.
(iv) 1 979137 B 3= 17 1 IR 7 313 g =T 8 |
Only English version is valid in case of difference in both the languages.

1. () vadsH fequ wi s aars ¢
- Why is distortion produced in an amplifier ?

(i) wifea yatfs & THR aad |

Mention different types of power amplifiers.
(iii) SThESEA HIIEE FHATE |

Describe Barkhausen criterion.
(v) f, @6 f Feiae ?

What does {, fB and fy denote ?
(v) st % R s |

Mention applications of Multivibrators. (2x5)

2. (i) CSyads & = gha W A.C. T IRE ST F931 |
Draw and explain CS amplifier A.C. equivalent circuit at low frequency.

(i) CD FET yat® & fag f sngfaai w Steedr @ifetr & foe s sgea= Hifs |

Derive formula for voltage gain of a CD FET amplifier at low frequencies.  (6x2)

(1 0f2) P.T.O.
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(i)

qae 3G SR 5T U HE B -6 Fartieh 1 srisoneh Fused |

Explain working of a Class B push — pull amplifier by drawing its circuit
diagram.

FeT Fdades gy 6t HRITE S T |

Explain working of a phase inverter circuit. (6x2)

woTees ferwa wfegf @ oo ar wfagfe 6 ger |

Compare negative voltage feedback with negative current feedback.

i 1 FEHFET 1 I A TE A e W N H FHAEH |

Explain the effect of cascading of amplifier on their gain & bandwidth. (6x2)

yTenes Wagfe sraumen % faafaa #

Describe positive feedback concept.

(i) T BT Qe ol s TRue St e Ry FHeEd |
Explain the working of Colpitt’s oscillator with the help of neat circuit diagram.
(6x2)
() qeeftin & e e 2 7 98 Fe g el 8 ? I |
What do you mean by bootstrapping ? Where is it used ? Explain.
(i) TS Yats T ? THE |
. What is a cascade amplifier ? Explain. (6x2)
() gEsmr e s i sfafmar § w0 S E 7 I giga fea = |
What is the difference between symmetrical and asymmetrical trigger ? Explain
with diagrams.
(i) o fom < wrivomedt 1 TR FR@ ! FER 4§ T |
Explain the working of Schmitt Trigger with circuit diagram. (6x2)
Write short notes on any two :
(i) <hIeT IMUR Hebd hi HATTLIHAT
Need of time base signal
(i) ISR FEH qerch
Astable blocking oscillator
(iii) e 3mgfa Qfer

Beat frequency oscillator (6x2)



